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> ST TJUHHT 3797 eeal H I
(Examinee write answer in their own words as far as practicable.)

> Foel YT hr TEAT 19 &
(The total number of questions is 19)

> 9T HEIT 1§ 99T F&AT 7 ofeh AT 99+ 8 | 378 & fohogl arer
TRl o 3R GITTU | Tcdeh 92T &l AT 1 37eh TR B
(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions. Each question carries 1 mark.)
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3T ATSTT | YAk T T AT 3 3 aiRa &

(Question 8 to Question 14 are short answer type questions. Answer
any five of these questions. Each question carries 2 marks.)

> U HEAT 15 { YT TEAT 19 deh Sra3adT U & | S48 & fhoal diel
AT & 3AT| YAk WeT Al ATl 5 37k feRa &

(Question 15 to Question 19 are long answer type questions. Answer
any three of these questions. Each question carries 5 marks.)




Section A (Students will Answer Any five questions out of seven)
s 37 (O1F 9id & § fhegl g weal &1 39¢ &)

Name the phenomenon which shows the quantum nature of electromagnetic radiation ?

39 Ul H A IRV o [egd grahrr fafever fr FaicH g @ g 82 (1)

Define the terms cut off voltage and in relation to the phenomenon of photoelectric effect.

HIeSalded JHIT T TAT & TEY H e 3HH dlecs’ ol IRART FHT| (1)

How AND gate is realised from NAND gate.

NAND 3¢ & AND 9I¢ $& s ear & (1)

How does the energy gap vary with doping in a pure semi conductor?
EY IEATEd A ST & T FoAT HA FH T §? (1)

Do Electromagnetic Waves carry energy and momentum ?

T T YFaehrd oal Foil 3R HAT of Sl 872 (1)

. An Astronomical telescope has two lenses of powers 10 D and 1 D . What is its

magnifying powers ? (M

T Gee grale # 10 D 3R 1 D Afaddl & & ofF gid g1 s 3made afFaar &1 §?

What is the phase difference between two points in a Wavefront?

e 7 & gt & e =Ror 3R g2 (1)
Section B (Students will Answer Any five questions out of seven)

TS T (BT Od # ¥ fhegl 9/ WRaAT & 3R 31

The work function of caesium metal is 2.14 eV, when light of frequency 6X10™ Hz is
incident on metal surface, photo emission of electrons occurs. What is the maximum

kinetic energy of the emitted electrons? @)
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WSTIH 1] T R Bolel 2,14 eV &, ST T T T T 6X10/14 Hz 3G T Fehrer 3t

gIaT &, T Selarelall ol JehT2l 3cdotel &Il g | Sc ol Solaclal sl TR ITfaoT Sotl fehclell glcl

g

Draw circuit diagram, how zener diode used as voltage regulator? (3)

Ffhe 3IRW FATU, ST SRS Hl dlecol IHS & T A H& 39T A srar g2

Identify the part of electromagnetic spectrum which is used (1+1+1)

(i) for taking photographs of the sky during night and foggy conditions
(i) for studying crystal structure
(iii) in treatment of cancer
fega Jrahra auTHA & 38 AT T ggarel H T 3uAeT AT ST §
(i) T 3R FIEX & GRIT IMHRT FH &R olel & T
(i) TohECe TITAT &7 HEITA Il & foT
(iii) T & 3TIR A

With the help of labelled diagram, explain in brief the principle and working of a step up

transformer. (3)
AR 3RW FH FEHAT @ U 379 TG & feuiad 3R FRR™ & w8 7 gasms)

What is the effect on the interference fringes in a Young’s double-slit experiment due to
each of the following operations:

(a) the screen is moved away from the plane of the slits;

(b) the (monochromatic) source is replaced by another (monochromatic) source of shorter
wavelength;

(c) the separation between the two slits is increased;

For a converging lens Ry = R, = 24 cm and refractive index 1.6 (i) Calculate its focal
length in air and (ii) if the lens is split vertically into two identical parts, what is the focal
length of each part ? (3)

e FFART o & v R1 = R2 = 24 @#AT 3R 39adas 1.6 (i) a1 # STbI Blhel oldlg ol
IMOET Y 3N (i) I oFF T &Y FHET AEN F dwad ®7 @ FInfoa A Sar &, O v Her
$ Plhel S FIAT & ?

With the help of energy band diagrams distinguish between conductors, semiconductors

and insulators. (3)

3ol 45 3N T FERICAT ¥ HsFeT, HATelh AR FAEH & &g AR A 2l
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Section C (Students will Answer Any Three questions out of five)

T3 @ (o1 uid & T el i et &1 39X &91)

a)Draw a neat level diagram of telescope under normal adjustment.
b)Write magnifying power in this case.
c)What are the advantages of reflecting type telescope over refracting type telescope?

(2+1+2)
15. &) HAY ARG & ded el &l U A% TR & NG G|
g) 39 AFS H aUs fFd fod|
) H9afdd YR grell W Wrafdd FhR gallel & @It 7 872
An ac voltage V=V,sinwt is applied across a pure capacitor C. Find an expression for the
current | flowing through it. Show mathematically that the current flowing through it leads
the applied voltage by an angle /2.
A 60 pF capacitor is connected to a 110 V, 60 Hz ac supply. Determine the rms value of
the current in the circuit.

(3+2)

Teh et FURT C W Teh ac dlecdl V=V Sinwt S&TAT SITAT &1 S8 Jaligd glel arell GRT | &
fow st g Aifav| At 7 & @ & 8 98 arell aRT oe] dledal # /2
HIOT F o AT gl
Tsh 60 pF FUTRA 110 V, 60 Hz ac 3T & T &1 IRYY # URT HT rms A AT HfAT|
Draw a labeled diagram of a full wave rectifier circuit. State its working principle. Show the
input - output waveforms. (2+1+2)
QT T fesearrlt oy &1 AR T aa3v] $8& F1 fAguid &1 3eaw@ ffaw aer et
awr feard

Draw a ray diagram for formation of image of a point object by a thin double convex lens

having radii of curvature Ry and R, . Hence, derive lens maker's formula for a double convex
lens. (1+4) Ry 3R R, Tshdl FSAT arel Il g 37el ol ¢aRT T foig avq #1 ofd =t
& foIT ush fR0T 3@ &=V| 3T &fd 3d o & v o A g gceet RIS

In young's double slit experiment, deduce the conditions for (i) constructive and (ii) destructive
interference at a point on the screen. Draw a graph showing variation of resultant intensity

in the interference pattern against position ‘X’ on the screen? (2+2+1)
a7 & s o G H, Bhid W T fbig W () Teareas 3R (i) et safdeator & faw
ardl Y gert| Thir W Rfa x' & fasqy safasor e & oot figar & fewar

Z2leY arelT Teh 3ol difT ?



